HiStOry Group-A
fifd agfapedia yedl 4 |el fadey -
Choose the most appropriate optionsis the following multiple choice Questions:-
1. O I3 g @ T fhee e o 2
@ g8l @)  “ifere e
(@ aferad —n @) foeme
Who had formed German Rhine State ?
€) Louid XVII1 (b) Napoleon Bonaparte
() Napoleon I11 (d) Bismarck
2. X fdgI8 P gav ?
(® 1916 @ 1917
(M 1918 @) 1919
When did Rumpa Movement take place ?
@ 1916 (b) 1917
(b) 1918 (d) 1919
3. el v 9§ Rad W & g e —
Fill in the blank with appropriate word:-
S BT D THD D oo o,
............................. Wastheruler at the time of Russian Revolution?
4. A TR TS R o B MGl Bl Yo fhar o
Bal Gangadhar Tilakand ................. Started Home Rule Movement.
{7 U9 T ITR 50 AUAT 60 TGl H § —
5. iRides! @ SR & 79 o —
Discuss the works of Garibaldi.
6.  WRAIG U g MU AR AHIRIS: yawer off | o ?
Communism was a new economic & social system . How ?
7. 1929 © P HWhe & HRUT B GET H WL N |
Describe clearly in short the causes of Economic Depression of ?
8. 49 wvT &1 ST 100 3MrdT 120 Ual H © -
Answer the following question in 100 or 120 words :
SNTEANT ATl & HRUN T4 goral BT quie o |
3IdT
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RISCATE & S & BRI Ud YRUTHT BT 7@t N |

Describe the causes and effects of Non-Co-opretion Movement.
Or
Discuss the causes and consequences of the rise of nateonele’s.
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Group-B Marks-20
fifhd agfaedia gedl § & Wel fdbey g1 —
Choose the most appropriate options in the following multiple choice questions.
iR et ot fovem # Rerg 2 2
(@) o Rorem # (@)  ARTegR e 4
(m e R | (@) o forer ¥
In which district in cower lake situated ?
(a) In Darbhanga district (b) In Bhagalpur district
(c) In Begusarai. (d) In muzaffarpur district
Ted &7 # 9ol 31 SuRART & HROT & gt ol Fed 2| ?
(®) a1 U= (@) e e
(M o UB @ BIUE
Due to existence of water in vast area, the earth is called
(a) White Planet (b) Blue Planet
(c) Red Planet (d) Green Planet
e T W Red @ @ W

|, IRT T TCTT TE gl
I, N 3D BT STANT o éaﬁwzﬁ%(’ﬁmw%l

Iron-ore is used in ................. Industry.

(T Tl BT STR 50 31MdT 60 I&al H § -

Answer the following questions in 50-60 words.

a1y URaET B Y foRiael &l ford |

Write the main features of airways transportation.

T Sl & g & IR UG HRD] BT Seord I |
Mention the main four factors of extinction of the forest animals.
f9BR H Tcle Bdell & Scd1ed Ud fqaRoT Bl quie o |
Describe production and distribution of pulse cropsin Bihar.
{7 W9 BT STR 100-120 ¥I&T H ¢
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aMae & SUIed @ foly e |iferd TS &1 quiF d_d §Y WRG & d1ae] Scdiad &l Bl

Jood N |
rerar

N IS W R Bl T X1 A q18Y a2 FrafeiRad & srifdd $) sifdd HIf |
®.  URNIGIT TERIE Y. 9od 3 B T T SRS &

g P gRIeE § DIl SUCH &7
37T
&del el Bl & fofu

1. IRT & Gl I ST T 0 v |
Answer the following question in 100 to 120 words.

Mention the rice production area of India describing importat geographical conditions for rice production.

Or

Draw the outline map of Indiaon full page and mark the following by shading.

a. Paradwip port b. Salem steel plant C. Cane production area
d. Kosi project e. Coal production area.

Or

Only for Blind candidates
Describe the cotton textile Industries of India.



Palitical science Group-C Marks-17

16 TG9ET @I ARBR g G FHIET {5 PR B Sird AT H &l 8 =
®. UhCa 9 fggd aaen
T 9Eecd ARl g SUYE § W ol 7 o T
Which type of political arrangement is the possibility to form a coalition Government :-
(a) One party system (b) Two party system
(c) Multi party system (d) None of the above.

17 drel faRIE ofrrer frfeiRed | @ fobdt U 9 g% fobar rm o ?
CORCTN g SR T
T dferg g Y uey
In which state was the ‘Tari Virodhi Movement’ started?

(a) Bihar (b) Uttar pradesh

(c) Tamil Nadu (d) Andhra Pradesh
18 Rad @I &l gfd o —

Fill inthe blank :-

@) 7o RIS BT FRIBT ..o I« @I B & | (/)
A period of the Zila Parishad is .................. Years. (Five/six)

(@ <D T IS AT ATBR o & | (=0 99 g / a3
The top most officer of the country is .....cccovvveeerieenene (Chief Election Commissioner/Election
commissioner)

19 99 Ue & IR 20 Rl H § —

Answer the following question in 20 words :
TE1T S ¥ AT T G © 7
What do you understand by pressure Group ?

20 T YT @1 STR 100 AT 120 TRl H < -
Answer the following question in 100 or 120 words :
R e araRen & g faRrarett @1 aof o |
Mention the salient features of the Indian fedral system.

21 [9BR ¥ fbq TRE Albad B YWIfad ol §

Economics Group-D Marks-17

Frerifeer aged Fi & i ey T

Choose the most appropriate options in the following multiple choice questions.

[erifchel agfasedia eal ¥ | W81 fdded gri—

Choose the most appropriate optionsis the following multiple choice Questions:-

22

23

ST ABR fEa He FHAT ST § 2

(®) 17 ¥ @) 15 W
(M) 19 @) 22 W
When is the consumers Rights Day celebrated ?

(a) 17" March (b) 15" March
(c) 19" April (d) 22" April
e & foor forel @1 wfty @foe o <aifs © 7

(®) TTeT= (@) ued

(m) @) REw

In Which district of Bihar is the per capita Income highest ?
(a) Nalanda (b) Patna

(c) Gaya (d) Sheohar
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T 799 BT SR 20 I H T —

Answer the following question in 20 words :

24 3w from @R ?
What is Economic planning ?
25  gOq FTE 7
What is Saving ?
T U9 BT IR 100 31T 120 &l H § —
Answer the following question in 100 or 120 words :
26 SrfdReT ¥ 3T RN G 87 $9G [AM= GBRI Pl ford
What do you understand by Economy ? Write its different kinds.
27 R W 9T & U H D < |
Give logic in the favour of Globlization.
Or
LI R AT e ? el & R/ B © ?
What do you mean by money ? What are the functions of money ?
YT YaeH Group-E
fifhd agfapedia yedl 4 |8l fadey -
Choose the most appropriate optionsis the following multiple choice Questions:-
28 G 5 I W S & ?
@ d (@) W
(m) ST (@) & P T
In which place does Tsunami Occur ?
(a) Landmass (b) Ocean
(c) Sky (d) None of these
29 913 & NI AN Bl N H 9 fhg WM W) S anfeu ?
@) ST 9 9 E W) @ T ae
(M &l T S WE W (@) @t #
Where should people got to the time of food among the following ?
(a) On the place of highland (b) out of the village
(c) Where as it is (d) In the field
7T T97 BT IR 50 AAT 60 &I H & —
Answer the following question in 50 or 60 words :
30 Ul MUST UG HIFG ST SATIGT H 3R el SaIexvll & A1 qu o |

Describe the difference with suitable examples between natura disaster and man-made disaster.
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SIEI

friferd sgfiwed oo # & 92 fdew gi—
Choose the most appropriate options is the following multiple choice Questions:-

fGATT SE & §RT Wi H b S9a 99T ! GO b 715 off ? 01
@) g (@)  nfefam

(m g (@) o

Which of the following dynastees was re-established by the Congress of Viennain France ?
€) Habsburg (b) Orleans

() Bourban (d) Czarist

STRIGSI CTel A ‘TIeT 3RRA UUS Al & RO 6 @l ? 01
(@) 1854 (@ 1907

@ 1910 (&) 1920

When did Jamshedji Tata establish “Tata Iron and steel Company’.

@ 1854 (b) 1907

(© 1910 (d) 1920

el g | R v B il B -

Fill in the blank with appropriate word:-

RISl ARA ¢S T B DT AT T o 4 gs ol 01

All India Trade Union Congress was formed in the year .........ccceueuee...

3TAGOIvSIAT Hd Ugell [d%d TR ... & gRT U foar T o | 01
The first world market known as Alexandreya was established by ..............

{77 U9 BT ITR 50 3FAAT 60 IRI H § —

Answer the following question 50 or 60 words.

RYATH HAIG B D URG ZINT ? TG Sel W YH QI | 03
When was the minimum wages Act passed ? Throw light on its objectives.

BRI T & q& SR @ o ? 03
What was the main Causes of French Revolution ?

HSCIARY H TERISR HHMA & IREHl & WE BN | 03

Analyse the contributions of the multi-National Companiesin Globalies at
{7 499 BT SR 120 =T H € —
Answer the following question in 120 words :

IYIYIATE ¥ MY 9T T & ¢ SAEFIART o U9 o O a1, & ? 07

What do you understand by colonialism ? Industrealisation gave birth to colonialism how ?

AT 31aeT A<l & BRI B fAde T 3 |

Analyse the causes of civil disobedience movement.
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Group-B Marks-20
ferifchel agfasedia ueal ¥ 9 F8) fdded g —
Choose the most appropriate option in the following multiple choice questions.
48R & e forel 9 Tex s &1 927 9 & ? 01
@) e (@)
(m (@) gl geRe
In which district of Bihar canal is the main source of irrigations ?
(a) Rohtas (b) Siwan
(c) Gaya (d) West Champaran
D I Pl A ART BT AR FET 17 01
(®)  Her A (@ <o o= T
m  dfed 1w @)  ar fadem=

Who said that the dams of the country are the temples of India ?
(a) Mahatma Gandhi (b) Dr. Rajendra Prasad
(c) Pandit Nehru (d) Swami Vivekananda

e w W Rad @ o g o |
I 39D BT STIT oo e # fohar o B | 01

Mica is mostly used in .............. Industry.

1. f9ER # 999 31 SMerdl arer e ... gl 01
................. district has the largest population in Bihar.

=T Tl T STR 50 3MAAT 60 TG H & —

Answer the following questions in 50-60 words.

9 & TRy HEd B qU DI | 03

Explain the environmental importance of forest.

WA Xl URaE @l W fORIvdall a1 Jeeid o | 03
Mention the important features of the Indian Rail Transporte.

ffER @& Te<i & fdom o T aml ol ey | 03

Write the problems related to canal development of Bihar.

[ U% BT IR 100-120 F&T H @ —
ﬁgfﬁwzﬁmﬂwﬁﬁﬂﬂmaﬁmﬁaﬂhW@WEﬁgmaﬁwm
|

37T

T IO R AR BT Th @ A g19Y 7o e o1 srafed @ sifed o)
®.  Pledl 9B Y. Bl SARH &F M. dldddl

g gewdd S5 TR WA faed g

37T

YR & IgeAg A TTET URASHT W AT T A € | S T 1 o B g

Answer the following question in 100 to 120 words.
Mention the wheat production areas of India Discribing important geographical conditions for wheat

production.

Or

Draw the outline map of India on full page and mark the following by shading.

a. Kandla Port b. Coffee Production area C. Kolkata

d. Sundarban e. Tarapur atomic power house.



Or

®ac TRIT Bl B v —

Only for Blind Candidates :

What do you understand by multipurpose River valley projects in India ? What benefit in gained from

this?
Palitical science Group-C Marks-17
Fyeifer gfiweda Tl ¥ Wl Rger T -
Choose the most appropriate options in the following multiple choice questions.
16. Y WHR BT IR & 01
. RS eI |
T facH g T DI T
An example of pedral Government is
(a) America (b) China
(c) Britain (d) None of these
17. MRS Toll & AT 3R ST forg foda g1 yee fhar e & ¢ 01
®, U Afanad R 9. WA Giodrerd gRi
T fafes eman gR g ¥99Q gN
By whom are the affiliation and symbol of political parties presented :-
(a) By President Secretariat (b) By Prime minister secretor
(c) By Election Commission (d) By parliament
{7 TR T ST 20 &I H § -
Answer the following question in 20 words :
18. UM UAEdl & @ 3 BI-IF © ? 02
Which are the important parts of Gram Panchayats ?
19.  off¥1d SrHar @T B ? 02

What is sexual Inequality ?

=T 42 &7 IR 100 312qQT 120 Feal H & -

Answer the following question in 100 or 120 words :

20. R @l faenfmelt # Afgenen & ufafere o Rofa @ g ? 05
What is the position of representation of Women in legislatives of India ?
21, XOM® g {6 T8 91 3l ARERI &Xd § ? 06

How does political party form alliance in the power ?

RICGERER e IRarl Q—CI I TRBR BT TS Bl % ?
How does Democracy organize a responsible and legal Government ?

Economics Group-D Marks-17
Frerifd agfimedia T § § we Red -
Choose the most appropriate options is the following multiple choice Questions:-
22.  fafwg @1 Haiaw A § - 01
@ T (@ =
M g (@)  ufersm o=
Best Medium of Exchange is :
(a) Commodity (b) Cheque

(c) Money (d) Promissory



23, WRd H AT AN Bl R g — 01

(@) 1950 @) 1951
() 2005 @) 2015
Establishment of policy commission in India is
(a) 1950 (b) 1951
(c) 2005 (d) 2015
24w fawm fdt @ed € ? 02
What is inclusive Growth ?
25 geq foxT w1 uRMIT & ? 02

Define the micro Finance Institution.

=1 e} &1 IR 100 37T 120 sl H & -

Answer the following question in 100 or 120 words :
26. NS fdwra 1 & ? e fadr va anfde gig # SR Iqsy | 05

What is Economic Development ? Describe the difference between Economic Development and
Economic Increment.

27, @R & ol fUogu & @1 BRYT & ? 48R & [Uogus & R IxF & (ol §B T SUd
T | 06
What are the causes of Economic backwardness of Bihar ? Point out some important measure to remove
backwardness of Bihar.

Or
SYIIT B DIT—bIT PR 2 ? TS ford |

What are the different Rights of a consumer ? Write with examples .

SIEHEEEE] Group-E
friferd sgfimed oot # 9 98 ey -
Choose the most appropriate opti ons is the following multiple choice Questions:-

28, WENATR @ dell W B dTel HUA $I fbd A | ST oIl © ? 01
CONR G (@)  =spara

(m g @) T o T

By which name is the vibration occurring on the oceanic bottom known ?

(a) Earthquake (b) Cycloe
(c) Tsunami (d) None of these.
20, T ¥ WIel @l Rl # el g WM W 1 YIS IUAR BRAT A1y | 01
(®) <1 UMl ST @) T um e
(M)  oRUdrd ugar @) TN I3 T
What first aid should be made available on burnt spot in the burning condition ?
(a) Cold water (b) Hot water on the burnt spot
(c) Carry to the hospital (d) None of these

1 I99 BT TR 50 FAT 60 AT H T —

Answer the following question in 50 or 60 words :

30. QTS Yaud &1 v Y | 04

Describe drought management.



Model Questions

For
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History Group-A
fifd agfapedia yedl 4 |el fadey -

SIEI

Choose the most appropriate options is the following multiple choice Questions:-
TR T DI DI AT B MR RIS HiF o ?

(@) 30 1923, T% MAdeiar (@ 3o 1885, Qo0 TA

(M 30 1880, dfe RftA (@) 30 1876, oTe folcd

When did foundation of Indian National and who was founder ?

@ A.D. 1923, Guru Golwalkar (b) A.D. 1885, A. O. Hume
() A.D. 1880, Lord Ripan (d) A.D. 1876, Lord Litan

Selfirs wifty wdbem R 2w § g8 2

@) greie (@ W

M w4 @ S

In which country did Industrial Revolution begin ?

@ England (b) France

() Russia (d) Germany

el g | R v &1 il B -

Fill inthe blank with appropriate words.

ST XM ARG T o A DI A B

Raja Ram Mohan Roy established .........cccccuvvvvveennne. Society.
AT B A T 20 H S &R & dr9 gg o
Treaty of Versailles was signed in the year ........... AD betweem Germany &

T T T STR 50 3MrAT 60 TRl H § -~

Answer the following question 50 or 60 words.

Yo favd gg & el a1 SRl b o & |

What was the two Important Causes of First World War.

T TR W A FT GEE & 0 3HD] oI il gg ?
What do you mean by slum ? Why did it begin ?

fOBR & fhame =™ R e fewol) forg

Write a note on the Farmer’s Movement of Bihar.
7= U9 @1 SR 120 Vel H § -
Answer the following question in 120 words :

gColl d THIHRYT H HIGHI, HIGR AR IRdIee] & AN I [Gaem aifog ?

Discuss the Contribution of Mazzini, Cavour and Garibaldi in the Unification of Italy ?

T fTeTel & IRAT YT F &3 yTfaa fosar ?

How Indian Press affected National Movement ?
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Group-B Marks-20

ferifchel agfasedia ueal ¥ 9 F8) fdded g —

Choose the most appropriate option in the following multiple choice questions.

Wi I foa @t & a1 T S 2|
@) o (@) P
M) piem @) R
Natural Gas found with which mineral.
(a) Uranium (b) Coal
(c) Petroluium (d) Lime Stone
ffoiad # @RI% Bd B9 € 7
@ ] (@) W
(@M  daEd @ O
Which of the following Khareef crops
(a) Wheat (b) Mustard
(c) Rice (d) Pea
W8 7w < R <o B O A
Fill in the blanks with appropriate words
|, T o e JUBR B ¢ |

Resource in the gift of ...............
I, fIER BT e G- TR o z|

............. is the biggest city of Bihar.
7T el BT IR 50 AAAT 60 @I H § —
Answer the following questions in 50-60 words.
STl B 1§ 7
What iswater Crisis ?
WRA & JII TG STedrT & IR H feffag |
Write about the important national water ways of India.
T T TR B e s B o |
Write the main objective of river valley project.
{7 %9 T ST 100—120 ¥&T H § —

Answer the following question in 100 to 120 words.

cle—3xTd e 6B foRy &3 # & a=iid 8, B A SR 9Ty |

Iron steel Industry in only limited in a few special area specity any three reason of eat.

Or
AT
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R UG | YR &1 U6 @1 A aA19Y a1 Ffaled a1 srifed @ siftd Sifag |

B AR g THal T FEC

g dHaddl €  dEed

Draw the outline map of Indiaon full page and mark the following by shading.
a. Bhartpur b. Narmada o Carbate park

d. Kolkata e. Tea area.

Or

3T

®ac TRIH BEl B v —
Only for Blind Candidates :
YSHT & YBRI BT GO R |

Descibre the kind of pollution.



Palitical science Group-C Marks-17

feiferd agfadeda weAl ¥ WEl faded g —

Choose the most appropriate options in the following multiple choice questions.

16 2015 & fTIe™T g9 ¥ f9eR ¥ 59 3 7 WaR 1% |
. ol & (30) 9. Y S &d
T BN g A R
Which party has made the Government in Bihar in 2015 ?
(a) Janta Dal (United) (b) RID (Rastirya Janta Dal)
(c) Congress (d) All the three
17 YR § AT AT BT TS Be fbar AT a1 |
. 15 I 1951 g 15 TR 1950
T 15 W 1950 g T Bl Tel
When was planning commission organized in India ?
(a) 15" October, 1951 (b) 15" September, 1950
(c) 15" March, 1950 (d) None of these
7T U9 BT IR 20 ¥I_T H § —
Answer the following question in 20 words :
18 I & ANBR $T A aAldad BT @Al o | v ?
Right to Information Act isthe care taker of democracy. Why ?
19 fqe @ \atead § M9 1 qHE € 7
What do you mena by supremacy of the constitution ?
{7 U= PT ITR 100 31FAT 120 TIR[ H §
Answer the following question in 100 or 120 words :
20 OFIS g IS fden § {6 YR InTe aRd © 7
How do political parties play their role in National Development ?
21 TR ¥ & g erft &1 v |
Describe the important functions of Nagar Nigam ?
Or
ATAHATE SR FCTAIE cleheid Bl Gl & 2 TC By |
Terrorism and Isolism are the challenge of Democracy Descbribe them.
Economics Group-D Marks-17
Freiferd TgRieed we § O W Roer T
Choose the most appropriate options is the following multiple choice Questions:-
22 oW & U< faE (@) 5 a¥g @ urEd o JE R |
(@) dideds 9 (@)  faorel U@
(m S ImE (@) @ e
The Logo of Hollmark is a symbol of quality of which object :-
(a) Sealed bottle drink (b) Electric applliences
(c) Jewellery of Gold (d) Food materials
23 {59 &3 91 qdId &3 ol o & ?
(@) e (@ e
(m el &= @) g P T
Which sector is called Tertiary Sector ?
(a) Service Sector (b) Agriculture sector

(c) Industrial sector (d) None of these
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24 R B PR N -
(®)  ilo<iodio (@)  SiogHodio
(M)  SMR0H03M=0 (@)  TH0sI03MZ0
Give the full form :-
(a) GDP (b) GNP
(c) RBI (d) SBI
7T oAl T IR 50 AUAAT 60 IRI H § —
Answer the following question in 50 or 60 words :
25 foxfig G & MU AT | € ?
What do you understand by financial Institutions ?
26 JEIIGR W AT FT FHIAA € ?
What do you understand by Globalization ?
T T2l BT ITR 100 31T 120 ¥l H & —
Answer the following question in 100 or 120 words :
27 fde9 ATIR AT T T ? YT H IR FT @ o T ?
What is world Trade Orgaization ? When and why is it established ?
31UeT yee Group-E
it qgfideda vt 3 9 W Rwer -
Choose the most appropriate optionsis the following multiple choice Questions:-
28 T Y e @I ReIf # STel §U RIM W A7 NG SUER HRAT A1RY ?
(@) ST UMl STl @) T U ST
(M ST gga (@) 3« PrE T
What first aid should be made available on burnt spot in the burning Condition ?
(a) Cold Water on the burnt spot  (b) Hot water on the burnt spot
(c) Carry to hospital (d) None of these.
29 9 # | 319 Wl amuer T 2
@ o @
Q) BCINCEI @)
Which of the following is not a natural disaster ?
(a) Tsunami (b) Flood
(c) Terrorism (d) Earthquake
{7 TR T ITR 50 AUAT 60 Tl H § —
Answer the following question in 50 or 60 words :
30 fRER A a¢ o Rafa &1 a9 |

Describe the situation of flood in Bihar.
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History Group-A
fifd agfapedia yedl 4 |el fadey -
Choose the most appropriate options is the following multiple choice Questions:-
1. INGTeS! W W R oo ? 01
(®) Rl @ foam
(M R (@)  fd®
To which profession did Garibaldi belong ?
(@  Police (b)  Farmer
() LandLord (d) Sailor
2 IR Wue U GRS B G e o ?
(®) el AR (@ cIoRerE
(m < (@)  Uorew
Who has written the book “War and Peace” ?
@ Karl Mark (b) Tolstoy
() Dostoevsky (d) Engeles
el g | R v B il B -
Fill inthe blank with appropriate words.
3 R UGG — 30 ¥ IR gal o |
New Economic Policy was enforced in the year ................ .
4 A BN E AR ... @ g g o |
The battle of sadova was fought between .................. and ...............

SIVEI

T T T STR 50 3MrdT 60 TRl H § -~

Answer the following question 50 or 60 words.

SEINT TRl U T3l o | ¥ ?
Non-Cooperation movement was the first man movement. How ?
BIURIMT R S ggaT ?

How did printing press reach in Europe ?

T UG B YR DY g5 °

How did slum system begin ?

{1 T T STR 100 12@T 120 TR H § —

Answer the following question in 100 or 120 words :
SHA @ Yol # S 3 it B o oW |

Describe the role of Bismark in the unification of Germany

AT AT Ao BT e fdawor < |

Describe in short the Greek Independecne movement.
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Group-B Marks-20
ferifchel agfasedia ueal ¥ 9 F8) fdded g —

Choose the most appropriate option in the following multiple choice questions.

AR BT T Gl B ?
@ & (@) wR
(m @@ @) PR
Which the National Bird of India
(a) Swan (b) Peacock
(c) Parrot . (d) Pegion
WRT BT YTl URAIY] Soll T $al v g ?
(COMMEGINER (@) X HET AR
(m =K @)  PAUeHH
Where was the first Atomic power stationof India established.
(a) Tarapur (b) Rana pratap sagar
(c) Narora (d) calpuccam
e U ¥ Rad e @ g |
Fill in the blanks with appropriate words
. IS H AAA TP o A T |

Riceisa .......... Corp in Orissa.

I, IeATqd USRI & foly g fafdy o1 o ....... <1 febar o |

.............. Developed the haboure method for relies demonstarion.
{7 TR T STR 50 AAT 60 Tl H § —
Answer the following questions in 50-60 words.

AR Sl BT e b Bl 2|

Who is the solar Ennergy generated . _
f98R & W@ Ta1S 3rgSl & M foilRey 3ik a8 Fel Rerd 2|
Write the names of the important Airport of Bihar and whenthere are situated.

AT 31T PR T TS IRITST & Hged W T STforv |

Throw light on importances of the sone or the Koshi River Valley project.

797 I99 BT IR 100—120 TI=] H T
IR JFfegawel] # URdgs U FaR A &l 781 B W DI |
3rerar
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@WwwaﬂwWWwamﬁﬁﬂ%@ﬁﬁwﬁﬁwaﬁﬁW|

I TS g e T DHiedl §aITE
Er. A ICY JaH §  WEEd T4l
3T
What is the importants of Transport and communication in Indian Economic?

Or
Draw the outline map of India on full page and mark the following by shading.

a. Bombay High b. Bhilai c. Knadla port
d. Dudhwa National park e. Godavari River
Or

$Hddl R Bl b forg —
Only for Blind Candidates :

f98R 4 B-o19 A BHel oWTg Wil 2 | 6l U B b G SedTeAl Bl AR DI |

Which type of crops are planted in Bihar ?
Describe any one them and its important production.



Palitical science Group-C Marks-17

feiferd agfadeda weAl ¥ WEl faded g —

Choose the most appropriate optlons in the following multiple choice questions.

16 SMYFH I H geer dlrod Pl @ 2
C g faeTH
T Racorevs ¥ g ¥RdH
Where exists Direct Democracy in modern age ?
(a) France (b) Britain
(c) Switzerland (d) India
17 frefaRed 4 9 o9 IRdY e e @ @ o g |
®.  ANRON <9 T Wew (g fead
T RN @R Rig g O YBRI AREAY
Who is the main leader of Indian farmer Association ?
(a) Morargee Desai (b) Mahendra Singh Tikkait
(c) Choudhary Charan Singh (d) Jay Prakash Narayan
7T U9 BT IR 20 ¥I_T H § —
Answer the following question in 20 words :
18 I AIQM @ ?
What is secret ballot ?
19 9 I & 3 garg ?
Explain the meaning of the federal Government ?
{7 U= PT ITR 100 31FAT 120 TIR[ H §
Answer the following question in 100 or 120 words :
20 OIS Tl & [hgl AR ST B 90 B |
Describe any four functions of the political parties .
21 cdad @ AhoAd & oIl PIT—BIF A 3aeId IR 8 7
What are the necessary conditions for the success of democracy ?
Or
I T9TId & S Ud dfdadl 1 quid o |
Describe the functions and powers of Gram Pnachyat.
Economics Group-D Marks-17
frtiferd gfameda ool # 9 981 ey -
Choose the most appropriate options is the following multiple choice Questions:-
22 B 49 (sick) X9 T8I & ? 01
(@) foer @) g ey
(m  ics @ Semm
Which is not a sick state ?
(a) Bihar (b) Madhya Pradesh
(c) Karnataka (d) Orissa
23[9 & @I fgeigd &= der ol © ?
@) v e (@) oM e
(m el &= @) g P T
Which sector is called Tertiary Sector ?
(a) Service Sector (b) Agriculture sector

(c) Industrial sector (d) None of these
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24 e dl PR N —
(@) TS (@ w0030
(M THOTHoSo @)  vocoww
Give the full form :-
(a) NABARD (b) HDI
(c) SHG (d) ATM
T el T IR 50 AAAT 60 @I H § —
Answer the following question in 50 or 60 words :
25  aq fder @ g ?
What is sustainable Devlopment ?
26 TN B g ? HeY H sy |
Who is a consumer ? Discuss in brief.
T T2l BT ITR 100 31T 120 ¥l H & —
Answer the following question in 100 or 120 words :
27 AFARGR & "ed R ford |
Discuss the importane of “Human Right”.
or
eI T AT ATGH TR YT HT qUIF v |
Describe the effects of Globlization on general people.
YT YaeH Group-E
Freifer gfeda Tl 3 0 W Rger -
Choose the most appropriate optionsis the following multiple choice Questions:-
28 26 fawRR 2004 I fovg & fob By H IR GAM ST o7 |
(@)  uf¥gHr oRm @) Yo "R
(M  Jcdilcd FRMFR @) 9 D Erel
In which part of the world Tsunami came on 26" December, 2004 ?
(a) Western Asia (b) Pacific Ocean
(c) Atlantic Ocean (d) Bay of Bengal
20 PN Y@ BT © |
(®) O & ME H @ e @& T @ g H
M e @ e b IRT @) A @ A9 B HRY
Agricultural drought in due to
(a) Lack of water (b) Lack of soil moisture
(c) Soil erosion (d) Soil salinity
7T U9 BT IR 50 AUAT 60 IRl H & —
Answer the following question in 50 or 60 words :
30 BN B YMIAl Bl FH B dTel Thvel IR SURIT Bl foIRey |

Write any four measures to minimize the effect of the earthquake.
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Model Questions
For

Matric Examination 2016 (Annaul)
Sub- SSC Set V

History Group-A
frifoa sgfamada gel # 9 we fadwey -
Choose the most appropriate options is the following multiple choice Questions:-

1. JooT WTg U Bl IRSR &I ST o fha Sisleld & SR <F 78 ?

(@)  Ierel (@) AR
(m s @) R
During Which farmer movements the award ‘Sardar’ is attached to Balabh Bhai Patel ?
(b) Bardoli (b) Ahemadabad
() Khera (d) Champaran

2 W|YEEl A B Usel WA el gl ?
(@) w4 (@ o
(m & (@) wE
Where was the first communism rule used .
@ Russia (b) Japan
(©) China (d) Quba

3. el v 9§ Rad W & g e —
Fill inthe blank with appropriate word:-
S BT D THT ITRID oo o,
............................. Was the ruler during the Russian Revolution?

4 W T S Red A O W -

Fill in the blank with appropriate word:-
20 IR H R 3MEIed @ AT oo B |
=7 97 BT IR 50 3rdT 60 Iai H & —
Answer the following question 50 or 60 words.
5 3TenfIexur § aNY T WH &
What was the meaning of Industrialisation.

6  WOTT G SA<IeM & FT YRIH Y ?

What was the resultant of the Non-coopratin movement.
{7 U9 T ITR 50 AUAT 60 TG H § —
Answer the following question 50 or 60 words.

7 foe @ Frl @ 9E R
Describe the works of Bismark.

8 {7 97 BT SR 100 3MAT 120 TR H § =
Answer the following question in 100 or 120 words :
fEg—< Sufaer @ RemuET I o ?

What was the aim of coloney establishment of Indo-China.

SVEI

HCR e & #Ed U4 SHD! ST TR YHTT STef |

Throw light upon the importance and utility of small industry.
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Group-B Marks-20
fifhd agfaedia gedl § & Wel fdbey g1 —
Choose the most appropriate option in the following multiple choice questions.
frifd & 9 B9 e By W omRa 71 7 ?

@) wd e (@) s
(m = @ e
which Industry does not deped on Agriculture ?
(a) Cotton (b) Cement
(c) Sugar (d) Jute
Yol IHIMY Faf Rerd g ?
@) R (@) e
m TR @) e
Where is the railwork shop situated ?
(a) Jamalpur (b) Bhagalpur
(c) Munger (d) Patna
e T W Red @ @ W
| AT TP oo LRGSR
Metalis @ ....ccocvennee. resources.
I BACH H oo T AU A © |

................. in the main crop of karnataka.

(7 Ul BT IR 50 3T 60 IRl H & —
Answer the following questions in 50-60 words.
I Hel M 2 | 3G R IUAN T |

Whereis micafound. What isits utility.

B W NG ITT 3R T MG T & TR BT WE I |

Defferentiate between the agriculture & mineral Industry.
IR # fhd™ YoR @) T & ? 9o BV |

How many roads are there in India. Explain them.

7 997 BT IR 100120 ¥af H © —
"B fIBR 1 seferawen ol Ig 2| 39 $UT Bl ARAN DI |
rerar
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N UB R 4RG B U6 @ AAF 80 d1 FHeRad & Braifdd &R sifdd S |

B IR B TR A eorc - o SR | A e

g oo S DE
rerar

dhddl S BEl b ol —

IR BT olg ST SENT BT g P |

Answer the following question in 100 to 120 words.

“Agriculture in the backbone of economy of Bihar” Explain the statement.

Or

Draw the outline map of Indiaon full page and mark the following by shading.

a. The Desert of thar b. Coal field c. Delhi
d. Vishakhapattanam e. Tea eara.
Or

Only for Blind candidates :-
Describe the Iron Industries of India.



Palitical science Group-C Marks-17

16 GRS @1 Aqea Frefeiad § 9 e far —
B ARRI qATg g S AR
T SR T 9 O USRI ARE
Who led the “Total Revolution” among the following ?
(a) Morarji Desai (b) Nitish Kumar
(c) Indira Gandhi (d) Jay Prakash Narayan
17 foefoRad & 9 o9 I5g <o e R ?
B, IRAR S S g 9go AN Ul
T T &d () AN i
Which of the following is not a National party ?
(a) Bhartiya Janta Party (b) Pahujan samaj party
(c) Janta Dal (United) (d) None of these
18 3MTddbdia dibdd dl A & | DY ?
Terrorism isthe challenge of Democracy. How ?
19 I B AUPR AR b T e R Y ?
What is the main objectives of the movement Right to Information Act ?
7T T9F PT IR 100 31207 120 V&Gl H § —
Answer the following question in 100 or 120 words :
20 AN MRAA IO H AGaT & GHE DD A Al @ 2 fdEer a |
What are the challenges before democracy in present Indian politics ? Discuss.
21 NG & B ‘Ahas B Uo7 R Gl ol & ?
Political parties are called the “Life of Democracy”. Why ?
Economics Group-D Marks-17
Fyeifer agfimeda vl & W Rger -
Choose the most appropriate options is the following multiple choice Questions:-
2  Rod 9% 3% gfear &F U e ?
(@) 1930 (@) 1935
(M) 1945 (@) 1947
Establishment of Reserve Bank of India was :-
(a) 1930 (b) 1935
(c) 1945 (d) 1947
23 RA @ i o {59 e’ 3 @l o | 7
(@)  Prerpr (@ T
(m  feceh (@) 2o
Which city is called the financial capital of India.
(a) Kolkata (b) Mumbai
(c) Delhi (d) Hyderabad
24 el ¥ SUG AT 8 ?

rerifeer agfed w3 i ey T

Choose the most appropriate options in the following multiple choice questions.

What is Gross Domestic Product ?
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25  TOCIOUH @ 8 ?
What is ATM ?
7T el BT IR 100 31T 120 ¥&&T H & -~
Answer the following question in 100 or 120 words :
26 SUMIET HREVT AR 1986 I G faRyareHd Bl fordd
Mention the main features of ‘Consumer protection Act 1986.
27 YT oM & q&=g Aidi @1 quie o |
Describe the main regions of Economic development.
Or
IS AT B URAIT < | 3@ 0T 3l @ fafy di-ai & 8 ?
Give the definition of national Income. What
YT yaeH Group-E
Freiifer agRimeda vl 3§ © W Riger T
Choose the most appropriate optionsis the following multiple choice Questions:-
28 ffoiRad # 9 fo 741 &1 f98R & Aa' Fel ol @ ?
(@) T @ Tsd
(m o (@) g7
Which river is called ‘Curse of Bihar.’
(a) Ganga (b) Gandak
(c) Kosi (d) Punpun
29 G 5 IS W T T ?
@ @ W
M e @ T @R T
At which place does Tsunami take place ?
(a) Landmass (b) Sea
(c) Sky (d) None of these
{1 U9 BT IR 50 AUAT 60 IRl H & —
Answer the following question in 50 or 60 words :
30  OGY XEE MHRAG YaeT 3T T TN § 7

What do you mean by life-protective disaster management?
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